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Roll No. ...................................  

DD–2076 

M. Com. (Final) EXAMINATION, 2020 

(Optional Group—D) 

(Taxation and Accounting) 

Paper Second 

ACCOUNTING METHODS 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- bdgjk ys[kk i)fr D;k gS \ blds D;k nks”k gSa \ bdgjk ys[kk 
i)fr dks nksgjk ys[kk i)fr eas dSls cnyk tk ldrk gS \ 
What is the single entry system ? What are its 

disadvantages ? How can it be converted into double entry 

system ? 

vFkokvFkokvFkokvFkok    
(Or) 

lgk; ,.M dEiuh] chdkusj dh ‘kk[kk dkuiqj esa gS tks  
eky dsoy udnh esa csprh gSaA eq[; dk;kZy; vkSj ‘kk[kk ds 
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lkSns 31 ekpZ] 2016 dks lekIr gksus okys o”kZ ds fy, fuEukafdr 
gSa % 

 ` ` 

1 vizSy] 2015 dks izkjfEHkd jgfr;k  20,000 

‘kk[kk dks eky Hkstk  50,000 

‘kk[kk dks jksdM+ Hksth % fdjk;k  200  

             vU; O;; 100 300 

o”kZ esa ‘kk[kk ls jksdM+ izkIr dh  60,000 

31 ekpZ] 2016 dks vfUre jgfr;k  15,000 

[kqnjk jksdM+ dk vfUre jgfr;k  10 

mi;qZDr lwpuk ds vk/kkj ij eq[; dk;kZy; dh iqLrdksa eas 
tuZy ds vko’;d ys[ks dhft, vkSj dkuiqj ‘kk[kk [kkrk ,oa 
vU; vko’;d [kkrs [kksfy,A  
Sahay & Company of Bikaner has their Branch at Kanpur 

which sells goods for cash only. The following are the 

transactions between the head office and branch office for 

the year ending 31st March, 2016 : 

 ` ` 

Opening stock at 1st April, 2015  20,000 

Goods supplied to Branch   50,000 

Cash sent to Branch for : Rent 200  

                 Other expenses 100 300 

Cash Received from Branch 

during the year  

 

60,000 

Closing stock at 31st March, 2016  15,000 

Closing balance of petty cash  10 

From the above information, pass the necessary journal 

entries and prepare Kanpur Branch Account and other 

necessary accounts in the head office books.  
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- chVk fyfeVsM us ` 50,000 ewY; dk O;fDrxr dEI;wVj ysus dk 
fu.kZ; fy;kA dEI;wVj dk l{ke dk;Zdky 5 lky vuqekfur 
fd;k x;kA dEiuh mls ` 10,000 @ 15% izfro”kZ dh C;kt 
nj ls viuh cSad ls m/kkjh ysdj ;k iês ij ysuk pkgrh gSA 
dEiuh iês dk fdjk;k tks izfr o”kZ pqdkuk gS mldh tkudkjh 
ysuk pkgrh gS ¼;fn og cSad _.k ls leku gh gksxk½ 
fuEufyf[kr lwpuk;sa vkSj nh x;h gSa % 
¼v½ _.k dk ewy/ku ik¡p leku fdLrksa esa fn;k tk,xkA 
¼c½ C;kt] iês dk fdjk;k ,oa ewy/ku dk iqu%Hkqxrku rhuksa dks 

gj o”kZ vkf[kjh fnu dks pqdkuk gSA  
¼l½ dEI;wVj dh ykxr dks mlds dk;Zdky ¼5 o”kZ½ esa gh 

vifyf[kr djuk pkgrs gSaA lh/kh Hkqxrku ,oa ¼leku 
fdLr i)fr½ esa vkSj mls dj Hkqxrku djus dk mi;ksx 
djsaxsA 

¼n½ dEiuh dh pkyw dj nj 40% gS ,oa dj ds ckn iw¡th dh 
ykxr (cost of capital) 9% gSA 

¼b½ ik¡posa o”kZ ds vkf[kj esa dEI;wVj dks ` 1,700 eas csp nsaxsA 
bl izdkj dh fcØh esa deh’ku fcØh ewY; esa 9% gS vkSj 
mldk  Hkqxrku fd;k tk;sxkA  

chVk fyfeVsM ds }kjk Hkqxrku djus okyk okf”kZd iês ds izHkkj 
dh x.kuk dhft, tks _.k esa vUrj ugh n’kkZ;sxkA 
mlds vuqlkj cês dk fooj.k % 

o”kZo”kZo”kZo”kZ    cêk fooj.kcêk fooj.kcêk fooj.kcêk fooj.k    
1 0.92 

2 0.84 

3 0.77 

4 0.71 

5 0.65 
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Beeta Ltd. is considering the acquisition of a personal 

computer costing ` 50,000. The effective life of the 

computer is expected to be 5 years. The company plans to 

acquire the same either by borrowing ` 10,000 from its 

banks at 15% interest p.a. or by lease. The company 

wishes to know the lease rentals to be paid annually 

which will match the loan option. 

The following further information is provided to you : 

(a) The principal amount of the loan will be paid in five 

equal instalments.  

(b) Interest, lease rentals, principal repayment are to be 

paid on the last day of each year.  

(c) The full cost of the computer will be written-off 

over the effective life of the computer on a straight 

line basis and the same will be allowed for tax 

purposes.  

(d) The company’s effective tax rate is 40% and after 

tax cost of capital is 9%. 

(e) The computer will be sold for ` 1,700 at the end of 

the 5th year. The commission on such sale is 9% on 

the sale value and the same will be paid.  

You are required to compute the annual lease rentals 

payable by Beeta Ltd. which will result in indifference to 

the loan options. The relevant discount factors are :  

Year  Discount Factor 

1 0.92 

2 0.84 

3 0.77 

4 0.71 

5 0.65 
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vFkokvFkokvFkokvFkok    

(Or) 

ekuo lalk/ku ys[kkadu dks ifjHkkf”kr dhft,A bldh fo’ks”krkvksa 

o mís’;ksa dks crkb,A  

Define Human Resource Accounting. Point out its 

characteristics and objectives.  

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ^fe- ,* eqEcbZ vkrs gSa ,oa ,d Qkbo LVkj gksVy eas ;wjksfi;u 

;kstuk ds rgr 1 twu] 2007 dks nksigj ckn 4 % 00 cts  

` 500 izfrfnu ,oa 10% lsok ‘kqYd ds fglkc ls dejk ysrs 

gSaA gksVy eas pSd vkmV Vkbe 12 : 00 cts nksigj gSA 

fuEufyf[kr ifjfLFkfr;ksa esa ^fe- ,* ds }kjk ns; jkf’k dh x.kuk 

dhft, % 

(i) ;fn ^fe- ,* dk pSd vkmV le; mlh fnu jkf= 10 : 00 

cts gksA 

(ii) ;fn ^fe- ,* dk pSd vkmV le; 2 twu] 2007 dks izkr% 

9 : 00 cts gksA 

(iii) ;fn ^fe- ,* dk pSd vkmV le; 2 twu] 2007 dks lk;a 

6 : 00 cts gksA 

(iv) ;fn ^fe- ,* dk pSd vkmV le; 3 twu] 2007 dks lk;a 

4 : 00 cts gksA 

^fe- ,* }kjk ns; jkf’k dh x.kuk dhft, ;fn fdjk;k gj 24 
?kaVs ds fuokl ;k blds Hkkx ds fy, ` 500 izfrfnu ,oa 10% 

lsok ‘kqYd dh nj ls ns; gksA  
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‘Mr. A’ arrives at Mumbai and checks into a room in a 

five-star hotel at 4 P. M. on 1st June, 2007 at ` 500 per 

day plus 10% for service charges on European plan. 

Check out time in the hotel is 12 : 00 noon.  

Calculate the amount payable by ‘Mr. A’ in each of the 

following circumstances : 

(i) If Mr. A checks out at 10 : 00 P.M. on the same day. 

(ii) If Mr. A checks out at 9 : 00 A.M. on 2nd June, 2007. 

(iii) If Mr. A checks out at 6 : 00 P.M. on 2nd June, 

2007. 

(iv) If Mr. A checks out at 4 : 00 P.M. on 3rd June, 2007. 

Show also the amount payable by Mr. A if the charges 

were leviable @ ` 500 for a stay of every 24 hours or part 

thereof plus service charges at 10%. 

vFkokvFkokvFkokvFkok    

(Or) 

vLirky [kkrksa dh ys[kkadu izfØ;k dks le>kb,A  

Explain the accounting procedure for Hospital Accounts.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) f’k{k.k laLFkkuksa ds O;;ksa dh eq[; ensa 

(ii) f’k{k.k laLFkkuksa dh lkekU; jksdM+ cgh 

(iii) f’k{k.k laLFkkuksa dk osru ,oa etnwjh jftLVj 

(iv) ljdkjh vuqnku ds izdkj  
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Write short notes on the following : 

(i) Main heads of expenditure of educational 

institutions  

(ii) General cash book of educational institutions 

(iii) Salary and wages register of educational institutions  

(iv) Types of Govt. Grants   

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr lwpukvksa ls i’kq [kkrk rS;kj dhft, % 

fooj.kfooj.kfooj.kfooj.k    
izkjfEHkd izkjfEHkd izkjfEHkd izkjfEHkd 
la[;kla[;kla[;kla[;k    

jgfr;k jgfr;k jgfr;k jgfr;k 
ewY; ¼ewY; ¼ewY; ¼ewY; ¼`̀̀̀½½½½    

vafre vafre vafre vafre 
la[;kla[;kla[;kla[;k    

jgfr;k jgfr;k jgfr;k jgfr;k 
ewY; ¼ewY; ¼ewY; ¼ewY; ¼`̀̀̀½½½½    

i’kq 80 32,000 130 55,000 

i’kq dk pkjk  5,000  8,000 

i’kq pkjk dk Ø;    10,000 

o”kZ esa i’kq dk Ø;   150 60,000 

o”kZ eas i’kq dk foØ;   75 50,000 

o/k djus ds i’kq dk 
dqy foØ; 

  

30 20,000 

‘ko dk foØ;   5 500 

o”kZ eas iSnk gq, cNM+ksa esa 3 cNM+ksa dh ekSr gqbZ ¼[kre gks x;s½ 

,oa muds ‘ko ls dqN olwy ugha gqvkA  

[ksr esa gqbZ Qly esa ` 5,000 ewY; dk Qly vkgkj esa fofu;ksx 

fd;kA ` 3,000 dk etnwjh dk vuqeku yxk;kA o/k x`g O;;  

` 2,000; ` 1,500 dk kl yxkb;s ,oa chek ` 400A 
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From the following particulars prepare the Cattle Account : 

Particulars 

Opening 

No. 

Stock 

Value 

(`̀̀̀) 

Closing 

No. 

Stock 

Value 

(`̀̀̀) 

Cattle  80 32,000 130 55,000 

Cattle Food  5,000  8,000 

Purchase of Cattle 

Food 

    

10,000 

Purchase of cattle 

during the year 

 

 150 60,000 

Sales of cattle 

during the year 

 

 75 50,000 

Sales (total) of 

slaughtered cattle   30 20,000 

Sales of carcasses    5 500 

Out of the calves born during the year 3 died and the 

carcasses of the calves did not realise anything. Crop worth 

` 5,000 grown in the farm was used for feeding. ` 3,000 is 

estimated to be wages of rearing etc. Slaughter house 

expenses amounted to ` 2,000. Charge depreciation  

` 1,500 and Insurance ` 400. 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- jktdh; ys[kkadu dh izeq[k fo’ks”krkvksa dk o.kZu dhft, rFkk 
jktdh; ys[kkadu ,oa okf.kfT;d ys[kkadu esa vUrj Li”V 
dhft,A 
Describe the key features of Government Accounting and 

explain the difference in Government Accounting and 

Commercial Accounting.  

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr lwpukvksa ds vk/kkj ij ‘A’ dk voLFkk ,oa 
fnokfy;k [kkrk 31 ekpZ] 2015 ds vk/kkj ij rS;kj dhft, % 

fooj.kfooj.kfooj.kfooj.k    ` 

vkgj.k o”kZ 31 ekpZ] 2015 vof/k esa 1,861 

O;kikj eas gkfu 31 ekpZ] 2015 vof/k esa 2,930 

iwokZf/kdkj ysunkj foLr`r lwph esa 208 

iw¡th ¼1 vizSy] 2014½ 4,479 

ysunkj 8,064 

gkFk esa jksdM+ 7 

cSad eas jksdM+ 23 

iqLr _.k 2,737 

vuqekfur mRikn 2,050 

QuhZpj 248 

vuqekfur mRikn 120 

LdU/k 1,320 
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vuqekfur mRikn 830 

IykaV ,oa e’khujh 2,125 

vuqekfur mRikn 1,500 

ÝhgksYM dkj[kkuk 6,000 

vuqekfur mRikn ¼cU/kd vk/kkj ij ` 4,500½A 

` 282 ewY; ij can dh fLFkfr esa vuqeku yxkb;s rFkk ;g 

crkb;s fd ykHkka’k dk Hkqxrku ysunkjksa ds chp fdl izdkj ls 

gksxk \ 

Prepare a Statement of Affairs and a Deficiency A/c of 

‘A’ as on 31 March, 2015 : 

Particulars ` 

Drawings for the year to 31-3-2015 1,861 

Loss on trading of the year to 31-3-2015 2,930 

Preferential creditors for inventory, etc. 208 

Capital on 1 April, 2014 4,479 

Creditors  8,064 

Cash in Hand 7 

Cash at Bank 23 

Book Debt 2,737 

Estimated to Produce  2,050 

Furniture 248 

Estimated to Produce 120 
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Stock 1,320 

Estimated to Produce 830 

Plant and Machinery  2,125 

Estimated to Produce 1,500 

Freehold Factory  6,000 

Estimated produce (subjected to mortgage ` 4,500). 

Estimating cost of winding-up at ` 282, state the amount 

of dividend which could be paid to creditors. 
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